Balancing Chemical Equations — Answer Key
Balance the equations below:

1)1 N2+ 3 Hz— 2 NH=

2) 2 KClIOz— 2 KCIl+ 3 Oz

3)2NaCl+1Fz— 2NaF +1Clz
4)2Hz2+102— 2H20

5) 1 Pb(OH)z2+ 2 HCI —» 2 Hz20 + 1 PbClz

6) 2 AlBrz + 3 KaSO4— 6 KBr + 1 Al2(SOa4)z

7)1 CHa+2 02— 1 COz2+ 2 H=20

8)1 CsHs+ 5 02— 3COz2+ 4 H=20

9) 2 CeHis+ 25 02— 16 COz+ 18 H=20

10) 1 FeCls+ 3 NaOH — 1 Fe(OH)z + 3 NacCl
11)4 P +5 02> 2P20s

12) 2 Na+ 2 H20 —» 2 NaOH + 1 Hz
13) 2 AgzO —> 4 Ag+ 1Oz

14) 1 Se+ 12 02— 8 SOs

15) 6 COz2+ 6 H20 —» 1 CeH1206 + 6 Oz

16) 1 K+ 1 MgBr — 1 KBr+ 1 Mg

17) 2 HCl +1 CaCOz—» 1 CaCla+ 1 H20 + 1 CO2
18) 1 HNOz+ 1 NaHCOz— 1 NaNOz+ 1 H20 + 1 CO:2
19) 2 H20 + 1 Oz— 2 H202

20) 2 NaBr + 1 CaFz— 2 NaF + 1 CaBrz

21) 1 H2S0O4 + 2 NaNOz— 2 HNOz + 1 NazS0a4



